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Ctau distribution without 4mu cut
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« Show the DPS, SPS and BBbar J/y1 ctau distribution without 4mu vertex cut



Ctau distribution fit without 4mu cut
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Use double gauss to fit DPS and SPS Use DSCB to fit DPS and SPS

b02 20015 = -0.01

 Compare to double gauss function, double-sided Crystal Ball (DSCB) function can fit
DPS and SPS better




Ctau distribution fit without 4mu cut
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Use the Gauss@Exp function to fit BBbar ctau distribution



3D fit without 4mu cut L9
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ok + Jly: using double-sided Crystal Ball (DSCB) function. The
5oo§_ S jﬁxl&iﬁ:’;{:&'{;ﬁz‘nﬁgt parament get from DPS and SPS fit
w0l . » Combinatorial component: use the 2nd Chebyshev Polynomial
aoof-  Ctau: prompt use double-sided Crystal Ball (DSCB) function
200F- function, Non-prompt use the Gauss@Exp function
100F- « JIy J/yp fraction: 0.475+0.011, prompt fraction:0.5878 +0.0098
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